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COMMERCE
Paper — Il

Note : This paper contain§fty (50) objective typequestions oftwo (2) marks eachAll
guestions are compulsory.

1. For the following statements of Assertion) @nd Reasoning (R) inchte the correct code
from the alternatives given :

Assertion (A) : Liberalization means corporatisatioof departmeratl undertakings
and public undertakings.

Reasoning(R) : Freedom to public sector undelitads to access capital market.

Codes:

(1) Both (A) and (R) are true arfR) is correct explanation of (A).

(2) Both (A) and (R) are true but (RB)not a correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)isfalse but (R) is true.

2. Match the items of List — | with List — Il and indicate the correct code :

List — | /o List—1

a. Fiscal Policy I Mitigation of National hazards
b.  Technology Policy ii. Balance of Rayment
C. Macro-Economic Policy i. Fiscal Fedéralism |
d. MonetaryPolicy iv. Inflation .
Codes :

a b c d
@ i i v
(2) i [ v
(3) iv i [ ii
@) i [ iv il

3.  Which of the following factor is not directiyesponsible for slowing down the growth of
infrastructure ?
(1) High level of perceived political risk.
(2) High level of sunk cost.
(3) High probability ottime and cost over-run.
(4) Introduction of competition in all sectors.

4.  Out of the following which is not a majoomponent of Gross Domestic Product (GDP) ?
(1) Personal Consumption Expenditure
(2) Gross Private Domestic Investment
(3) Net Personal Income
(4) Net Exports

5. Which of the following is not a forum &onsumer Dispute Redressal System ?

(1) Local forum (2) District forum
(3) State Forum (State Conssion) (4) National Commission
Paper-Il 2 J-08-16
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6. X Ltd. purchased 70 percent of the shares of Y Ltd. at a preL@0,000. Share capital
of Y Ltd. was ofR 70,000 and its accumulated profits amounted $0,000. What would
be the amount of Minority Interest the consolidated Balance Sheet ?

(1) 25,000 (2) ¥ 70,000
(3) 1,00,000 (4) ¥ 40,000
7.  Match the items in Column — | with the item<Jolumn — Il and indicate the correct code :
Column — | Column — I {
a. Debt-Equity Ratio . Net Profit before interest and tax -;‘J .
Interest on long term loans i .
b. Proprietary Ratio .. Equity share capital + Reserves
I Preference share capital +tdrest bearing finance
c. Interest coverage ratio .. _ Long term debts F .
- Shareholder's Furds ' {
d. Capital gearing ratio . Shareholdgf""s Funds
Total Assets
Codes : J
a b c d
@ i i i v
(2) i v [ i
) i v i [
4) i iiiv [

8. Ram and Shyam are partners in a firm with capitak 04,80,000 ancR 3,10,000,
respectively. They admitted Ganesh as a partner%z\ﬂtbhare of profit. Ganesh brings
¥ 3,00,000 as his capital. Ganesh’s share of goodwill will be
(1) 1,10,000 (2) T 27,500
(3) 17,500 (4) ¥ 70,000

9.  Which of the following is a deferred revenue expenditure ?

(1) Legal expenses incud®n the purchase of land.

(2) Expenses on a mega advertisencampaign while launching a new product.
(3) Expenses incurred on infiition of a new machine.

(4) Wages paid for construction of an additional room in the building.

10. The amount of depreciation charged to Pfil Loss Account varies/ery year under :
(1) Fixed instalment method (2) Annuity method
(3) Diminishing balance method (4) Insurance policy method
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11. Ordinal utility analysis of the consumer’'shiaeiour is considered superior to the cardinal
utility analysis mainly due to
(1) assumption of the rationality of the consumer’s behaviour.
(2) possibility of the derivéon of the consumer’s demand.
(3) Dbifurcation of price effects into income and substitution effects.
(4) consideration of the available limitegsources for satisfying consumer’s demand.
12. For the following statements 8ksertion (A) and Basoning (R) indicate the correct code :
Assertion (A) Price reduction normally leads #n increase in the demand for a
commodity.
Reason(R) Price reduction leads the entry of new buyersf the commodity in
the market.
Codes:
(1) (A) is correct but (R) is not correct.
(2) (A) is not correct but (R) is correct.
(3) Both (A) and (R) are correct aid) offers full explanation of (A).
(4) Both (A) and (R) are correct but)(Boes not offer full explanation of (A).
13. The minimum Long Run Average Cost (LAC) can be determined on a
l. LAC curve for a normal production function
[I.  LAC curve for a linear production function
[ll. Planningcurve
IV. Envelopecurve
Codes :
@ 1 Il
2 1 m v
@ 1 m wv
4 1 11 v
14. Monopoly is not considered desirable frahe point of view of the society mainly
because the monopolist endeavours to
(1) earn net revenue on sale of all goddsluding those involving no cost of
production.
(2) earn net revenue on sale of gowmdshort run as well as long run.
(3) charge different prices for the sapreduct from the different categories of buyers.
(4) produce below economic capacity levelewhhe exhibits satisfaction with normal
profit only.
15. Product-line pricing strategy includegich combination of the following ?
l. Public utility pricing
[I. Complementary goods pricing
[ll. Sparepartspricing
IV. Loadfactorpricing
Codes :
@ 1 I
@ 1oV
3) 1 n v
@ 1 m v
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16. When the data are classified only on theidaf descriptive chacteristics which cannot
be quantified is known as
(1) Geographicatlassification (2) Chronologicaklassification
(3) Qualitative classification (4) Quantitative classification
17. Which one of the following is a false description ?
(1) In a moderately asymmetrical distrilun, the empirical retlonship between Mean,
Mode and Median suggested by Karl Pearson is
Mean — Mode = 3 (Mean — Median)
(2) Coefficient of variation is aabsolute measure of dispersion.
(3) Measure of skewness indicates theeation and extent of skewness in the
distribution of numerical Maes in the data set.
(4) Kurtosis refers to the degree of flatness or peakedness in the region around the mode
of a frequency curve.
18. Match the items of List — | with the items bist — Il and indicateéhe code of correct
matching :
List — | AList— 11 |
a.  Coefficient of determination . / .
l. | 'ny N I
b. Spearman’s Rank correlation O‘yeédZ
coefficient o 1- NP — 1) /
C. Regression coefficient of x@n Y. XY
variable g 5 nc,c
1'\ | X7y
d. Karl Pearson’s fogmula of iv. 42
calculatingy
Codes :
a b c d
@ i i i v
2) i v i
3) iv i i [
@) i i v [
19. Statement—1: When the null hypothesis is true kag per the hypothestesting, it is
rejected, it is known as betgoey error in hypothesis testing.
Statement — Il :  Chi-square test is exclygly a non-parametric test.
Codes:
(1) Both the statements are true.
(2) Both the statements are false.
(3) Statement — 1 is true while Statement — 1l is false.
(4) Statement — | is false while Statement — Il is true.
20. Computers that recognize dasdiscrete signals are called ?
(1) Analog computers (2) Digital computers
(3) Hybrid computers (4) Super computers
Paper-Il 8 J-08-16
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21. Herbert Simon’s concept of administrative man assumes that
(a) He has satisfying approach in decisimgking rather than the maximising approach.
(b) He can make decisions withalgtermining all posbie alternatives.
(c) Heis completely rational in decision making.

(1) (a)only (2) (b)only
(3) Both (a) and (b) (4) (a),(b)and(c)
22. Which of the following statemersl) is/are correctl®ut scalar chain praiple as given by
Fayol ?
(a) Each communication, going up or downsirlow through each position in the line
authority.
(b) Chain of communication canno¢ broken under any circumstances.
(1) Only (a) is correct. (2) Only (b) is correct.
(3) Neither (a) nor (b) is correct (4) Both (a) and (b) are correct.

23. A mission statement should be
(@) Self-explanatory
(b) Elaborate
(c) Distinctive

(d) Feasible
Codes :
(1) (a)only (2) (a)and (b)
(3) (a), (b)and (c) (4) (2, (c) and (d)
24. Match List — | and List — Il ad indicate the correct code :
List — | b List — I1
a. Equity theory - I. Motivation depends on ratios of inputs
and outcomes of self and others.
b.  Vroom’s theory | ii. People are motivated to achieve a goal
\ ( to the extent that they expect that
certain action will help them to reach
the goal.
c. Porter and Lawler model lii. There exists a complex relationship
4y among motivation, performance and
i‘ \ satisfaction.
d. Herzberg's theory iv. A challenging job that has

opportunities for achievement,
recognition, responsibility and growth
will motivate employees.

Codes :
a b C d
@ i ii i v
2) i [ i v
(3) i i i iv
4 i iii ii iv
Paper-Il 10 J-08-16
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25. Assertion (A) : ‘Grapevine’ tends to be moractive during periods of change,
excitement, anxiety anshgging economic conditions.
Reason(R) . Employees use this communication to fill in important information
gaps and clarify management decisions.
Codes:
(1) (A)isright and (R) is wrong.
(2) (A)iswrong and (R) is right.
(3) Both (A) and (R) areght and (R) explains (A).
(4) Both (A) and (R) are right but (R) does not explain (A).
26. Which type of differentiation is used gmin competitive advdage through the way a
firm designs its distribution covage, expertise and performance ?
(1) Channetlifferentiation (2) Services differentiation
(3) Peopldifferentiation (4) Product differentiation
27. Which one of the following is the most liketgsult of a marketing strategy that attempts
to serve all potential customers ?
(1) All customers will be delighted.
(2) Customer-perceived value will be increased.
(3) The company will need to folup with a demarketing campaign.
(4) Not all customers will be satisfied.
28. Which of the following is not a primary &aty in Michael Porter’s value chain ?
(1) Inbound logistics (2) Operations
(3) Outbound logistics (4) Procurement
29. Which of the following represents consistency of results when the test instrument is used
repeatedly ?
(1) \Validity (2) Reliability
(3) Relativity (4) Sensitivity
30. Assertion (A) : Too many stimuli make a personcammodated to those sensations.
Sensory adaptation is a problematthconcerns many advertisers,
which is why they try to change their advertising campaigns
regularly.
Reason(R) :  To cut through advertising clutteand to ensure that consumers
perceive advertisement, marketers try to increase sensory input.
Codes:
(1) (A)isright and (R) is wrong.
(2) (A)iswrong and (R) is right.
(3) Both (A) and (R) are right but (R) does not explain (A).
(4) Both (A) and (R) areght and (R) explains (A).
Paper-Il 12 J-08-16
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(3) (A) 3R (R)3H W € 2R (R), (A) S AR E |

(4) (A) 3R (R) =1 @&l €, e (R), (A) ot a1 el sl & |

YiqeTeTcaes Y Ui i % [T Ush w319 feraeor =i, foreiean we - i dar o
% T The U & Tor9RIoheoT ST ST Sheel & 2

(1) siEen favgeor (2) @ fadsiERoT

(3) AT TRt (4) SR TougTeRToT

frefefad & & SF-A1 oo ot 1 ged st Genfad oo eidr €, S g gefad e
AT A T FART HIAT § 2

(1) oft Ueeh TR g |

(2) UEH Hiead god H gy e |

(3) Ul I AU ANTAH Wied AT FRATE HIAT B |

(4) ot UEH T Tel B |

frferiaa & @ .91 HTgshel WIeT 1 Godl 2Eell Sl e Sharheny 78 & 2
(1) 3id:ard 9R (2) SE%HAT
(3) dTTEETad EWR (4) U

Tohel IH&TOT SUSRUT ol SRR T e 0X UROTH &1 STEYaT 1 (=rarad § & i g9
T2

(1) e (2) o

(3) e (4) wEsiewE

AT (A) | IHF IEIUH Uk Al H 37 Fagaen & Ufd WEE s Id & | HAGAeHE
3THEH 3T faRohRdiel & [T U S0 €, s SR a8 379 foRimae i =t
RO S8erd T o 7T X & |

aF (R) : fosmoT &t fig & IR % foTT aen ST gRT fosmo o ufdes st gHved &= &
ToTT fooTeRdT WegATeHS AT i S@Te 3 T UATd & € |

FT

(1) (AT T, (R)Td e |

(2) (A)TEE (R)TEE |

(3) (A) 3R (R) 3! Wl €, @it (R), (A) B AR &7 € |

(4) (A) 3R (R)3Hl W& € 2R (R), (A) S AR E |
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31. Which of the following is not a feature of payback period method ?
(1) Itis simply a method of costcovery and not of profitability.
(2) It does not consider the time value of money.
(3) It does not consider the risksociated with the projects.
(4) Itis very difficult to calculate.

32. Which of the following is not a source afedit information of prospective customers ?
(1) Letter of credit (2) Bank Reference
(3) Trade Enquiry (4) Credit Bureau

33. The portion of earnings which is distributedarg shareholders inétform of dividend is

called
(1) Proprietary Ratio (2) Earnings-yield Ratio
(3) Payout Ratio (4) Retention Ratio

34. Select the correct code regardingtivies for holding inventories by firms :
(@) Transactiomotive
(b) Environmentamotive
(c) Precautionarynotive
(d) Speculativenotive
(e) Competitivenotive
Codes :

(1) (@), (0), (c), (d)
(2) (a), (b), (d), (e)
(3) (a), (d), (e)
(4) (a), (c), (d)

35. Which of the following formulae ieelated to operating leverage ?
Contribution Sales — Variable Cost

1) Operating Profit (@) Earnings before Interest and tax
Percentage change in EBIT
) Percentage change in sales (4)  All of the above

36. Which of the following is notrue in case of HRM ?
(1) Employees are seen as an investment taldared as well as a soto be controlled.
(2) Conflicts are dealt with byyam members within their teams.
(3) Preference is for collective baiging of pay and working conditions.
(4) Emphasis is on competitive pay amhditions to stay ahead of competitors.
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31.

32.

33.

34.

35.

36.

TSI THATEy St HETatEd § 9 & 9 o T@t g 2

(1) ¥E TA T H NI YA 1 A € 7 5 AIRTEhmer |
(2) ¥E R % T God W {IaR el el ¢ |

(3) & URASHT ¥ el STfEH W foar et et € |

(4) TTHI TUAT T HiSA T |

Telt UTeehi i W o1 & foTu Fefafad o & & 91 aid T8l § 2

(1) - (2) % Esd

(3) =R IBa® (4) v

SUTS BT 91T ST St § o9ieT o ®0 | foaid o Sidr €, 39 el S ¢
(1) T e (2) SUNH-3TSH U
(3) I (4-3TS) U (4) RTEROT AT
T GRT W T o YA & T H el B bl 99 HITT

(@) TR yEeH

(b) R S

(c) WTEHET AT YA FAST

(d) Tt e

(e) wfTereTcHe TarsH B

T4

(1) (@), (b), (c), (d)
2) (a), (b), (d), (e)
3 (@), ) (e)
4) (@), (c), (d)

ffefad gt & @ S aiEre et ¥ Trid € 2

SRR fospar — =t @
(1) TR o @) FTFEwIE R =
e S, e aRae
@) Foopr 5 e wRe (4) T

9. 3RO, & A9 § efaiad § 9 i9-971 98l 781 & 2

(1) FHIRET I Wi T ST aret FesT X = it ST aTell anTd & §9 ° <@ S & |
(2) TP TI@N F FRT I oAl & 37EY THT Bl (ISR T ST & |

(3) e 3R HE i feaferat & Trgfeeh WiRaTSit bt wreifhehar <t S § |

(4) v @ 3 Y& % o uiqai-sa Y fefqa ™ 561 5o S e |
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37. Which one of the following is an advantagijdVlagazines as a source of recruitment ?
(1) Lessexpensive
(2) Long lead time for advertisement placement
(3) Reach a diverse audience
(4) Many unmotivated applicants

38. Examine the following statements and choose the correct code :

Assertion (A) : Human Resource planning must alwdyes seen within the strategy
making context.
Reason(R) : Human Resource planning processioged from the realities of the

business will be a waste of time.
Codes:
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are wrong.
(3) (A)is correct, but (R) is wrong.
(4) (A)is not correct, but (R) is correct.

39. Match the items of List — | with the itero$ List — Il and selecthe correct code :
List — | List—1l "~/
a.  Golden parachutes i. "WThe right to fpurchase a stated
« Number of shares of a company
) ¢ 'Stock at today’s price at some time
in the future.
b.  Gain sharing ii. An incentive plan that engages
< employees in a common effort to
£ achieve productivity objectives and
share the gains.

C. Stoclg-o'ption iii. Payments companies make in
connection with a change in
“4 \ ownership or control of a company

d. Annual bgnus Iv. Plans designed to motivate short

term performance of managers and
are tried to company profitability.

Codes :

a b c d
(aQ) i [ i v
2 i i i v
(3) i il [ iv
(4) i i [ iv
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37. ol % @I % ©9 H U § FEterad § @ i 91 e 8 9
(1) 5 T
(2) o= & wrs & fere e 9o
(3) fafay ureet a% wgw
(4) % eI sTaE

38. T=TaIiEd HeFT i ST HITT 31 el P T =TT HINTT ;

ATTHUT (A) : T GHTET AT S HIM THIT I o UG H @ ST AT |
A% (R) : HRIGR S AT I G TTE TG GATE FISTT UHAT, T T AT 20T |

E T
(1) (A) R (R)I T |
(2) (A) 3R (R) I T & |
(3) (A) el &, AfFT (R) T & |

(4) (A) 7o &, AT (R) W@l & |

39. gl — | § SF 7T TSI B Gt — || T /T % T G HINTT TS Tl e T T HifoTT ;

et - | . et e ©
a.  Tieed WEE i. ; i & %! 3feaiiaa den
) Pl, Ao H D G H A B B
W wEte e
b. 79 IR ii. TUH WoERd ASEn, SEH sHer
B SRl o 3Tl I AT i o fofT
{ { I T A & 3R AN FH SR
\ FAE |
c. Wik HFH jii. WU % Tt A1 e § aieds &
- S Gy | HUAT §RT ST AT |
( o aﬁmﬁxf Y v we % st sEe W
] ARTIRT A TR AT o AR
- ;' % U AR A T G
T4
~a b ¢ d
(1) i i il iv
(2) i il i v
3) i il i v
(4) i i i v
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40. Which one of the following isot a function of plant council ?
(1) Recommend and improve safety, health and welfare measures.

(2) Determination of productivity schemetaking into consideration the local
conditions.

(3) Planning, implementation and reviefvmonthly targets and schedules.
(4) Review of working of shop level bodies.

41. Assertion (A) : “Banks globally are facing more challenges now, and Macro
sustainability is a necessity butot sufficient for sustainable
economic growth.”

Reason(R) : “Putting regulations in place is only one part and their implementation
is equally important for achiewy growth and sustainability.”

Codes: 7

(1) (A) and (R) both are true and)(R correct explanation of (A).

(2) (A) and (R) both areue but (R) is not the cact explanation of (A).

(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

42. Banking on telephone service includes :
() Automatic balance voice out
(i)  Inquiry all term deposit account
(iif) Direct cash withdrawl
(iv) Utility bill payment
(v) Voice out last five transactions
Codes :

@) (), (i), (i) and (v)
(2) (), (i), (iv) and (v)

@3) (i), (i), (iv) and (v)

@) Al ), (i), Giii), (iv) and (v)

43. Which one of the following banks currently ranksmber one in India in terms of market
capitalization ?
(1) State Bank of India
(2) I.C.I.C.I.Bank
(3) U.T.l.Bank
(4) 1.D.B.l.Bank
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40. TreAfcfEd o § S 91 957 uRug H el § 2
(1) TN, WA 3R FHedT SUrEr St FHReT HEAT 31X 30 GuR HET |
(2) IR Rfdat S e o W@ gU SRl Gt ASHIsT 1 R |
(3) TR el SR ST BT ST SHT, Sv6 AT BT 3T D! THIET HEAT |
(4) via T (et & HrEETer S FERT BT |

41, fmem (A) ; “I 3 Afves T T ST THEITTET 1 T F IR §, SR T T U
SMATIHAT &, TTh TR 3NF Tl o g vt =i & 17

% (R) : “fafaae Sact T 90T € 31X Fglg ae Wb & W HH % o0 S9! Hrarag-
T 9 § TE@u § 17

FT:

(1) (A) 3R (R) 3T Tl & 31X (R), (A) &l Gel e ¢ |

(2) (A) 3T (R)3HT Tt &, Al (R), (A) T Tt AR &l & |

(3) (A)WE & 3R (R) 7o ¢ |

(4) (AT g 3R (R) W€ |

42. RN Farsll U TR St H QiH{oTd glar & —
(i) oo W et e
(i) = STEfE S ol & ey H gudrs
(ili) Ve Ahg AT
(V) f foer ot
(v) oot O oFea & et Few
T
@) @), (i), (i) 2% (v)
2) (), (i), (iv) 3 (v)
(3) (i), (i), (iv) 2% (v)
(4) =t (i), (i), (i), (iv) R (V)

43. TAfcREd B & F T 9% IHH H FR TSI % ©9 H 9RdT | T8l shHi% T § 2
(1) <% 3w e
(2) SMEHIME T ME, dh
(3) F2rmE
(4) SEEE. A, d%
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44. Match the items of Column -with the items in Column — Bnd suggest the correct code :

45,

46.

Column — | Column —li

a. Interbank call market I. Money market
b.  Commercial Bills ii.  Promissory note
c. Commercial paper market li.  Short-term maturity
d.  Treasury bills iv. Government papers d
Codes :

a b c d
a i v il
(2) iii [ v
3) i v
4) iv i i [

Match the items of List — | ih List — Il with regard to t BASEL Il norms and select the

correct code :

List— 1|
a. Pillar 1
b. Pillar 2
C. Pillar3
Codes :

a b
Q) i i
2) i i
(3) i i
(4) iii i

Assertion (A)
Reason(R)

Codes:

List — I 1
I Supervisory review process

i.  Market discipline £

iii. Minimum‘x regulatory r capital
requikements  based ‘on  Risk
Wﬁiqht Assets (RWAS)

-

Comparative cost theory is static in character.

Comparative cost theory is bdsen fixed supplies of factors of
production.

(1) (A)is correct, but (R) is incorrect.
(2) (R)is correct, but (A) is incorrect.
(3) (A) and (R) both are catct, but (R) is not the cact explanation of (A).

(4) (A) and (R) both are ceect and (R) is the correexplanation of (A).
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A4, T — | T &I Bl BT — || Sl TET % T AT HINTT Td Gel Fe T T2 HITT

HieTH — | BT — ||
a. ¥ % Hiel IR i g IER
b.  anfUriess fae i, T
C. HHRF U AT jii.  SToURITe ARYSR
d. U (ISR o) iv. TPRI-TT .'_:a
F 3
a b o d
@ i i v
@ @i i i v
@ i i v i
@ v i i
45. ITA Il & AEE & IR Gt — | 3t 7ET B Gt — |1 0 AT o T1eF G HIFTT Te Tel e
T T I :
- w0 |
. E A O R Rl .38
b. w2 ii. TSI SRR o
c. W3 ji.  StEy TR U SHIRd gAaH
fafrpgs Tt emavassaTe (RWAS)
%< :
a b c
@ i i i
@ i i i
@ i i i
@ i i i
46. APqHA (A) : ToHTHS AN fFaTd S Uhid ©IfdH € |

A% (R) : oIS T G5Td SCART & HRehT b FRR gl T e & |

E&

(1)
()
3)
(4)

(A) Tt &, Al (R) Tord & |

(R)WEI &, wife (A) Tord & |

(A) 3R (R) 3T T €, AR (R), (A) T Fel == el ¢ |
(A) 3R (R) THT &l € 3R (R), (A) F T& A& |
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47. Match the items of List — I ih List — Il with regard to Biance of Paymentsquilibrium :

List—1 List—1I
a. Exchangeontrol I. Exporters surrgler foreign exchange to the central
bank.
b. Trade Policy ii.  Bank rate raisetdy the central bank
Measure
C. Expenditure iii. Reduction in foreign exchange rate
reducing policy i
d. Expenditure iv.  Enhancing exports by granting subsidies s
switching policy J
Codes :
a b c d
a i v i
) i i i v
3) i i v [
4) iv i i [
48. Which among the following is closely associated with intaligicproperty rights ?
(1) GATS (2) TRIMS
(3) TRIPS (4) MFN

49. What is not correct about International Development Association (IDA) ?

(@) Following earthquake in 2015, IDA haslped Nepal rebuild and recover.

(b) IDA ranks as the highest performing multilateral development bank in 2016.
(c) IDA is a subsidiary bank of IBRD.

(d) India has procured highest amount of international loan from IDA.

Codes :

(1) (a)and (b) 2) (o)

(3) (d) (4) (a)and(c)

50. As per the Foreign Trade Policy 2015-202€@rae star export house should have :

1)
(2)
®3)
(4)

Paper-

Export performance (FOB/FOR) of 5100 million during current and previous
two years.
Export performance (FOB/FOR) of L5500 million during current and previous
two years.
Export performance (FOB/FOR) of 51000 million during current and previous
two years.
Export performance (FOB/FOR) of 52000 million during current and previous
two years.
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A7. TAH G 9 % G § gt — | T&1 B Gt — || HST % qreF GHfEd it ;

a.

b.
C.
d

48.

49.

50.

%<

&~ .

1)
)
()
4)

=t — | = - I
fafrae fasor i. AR R HEE O @
faett qo snafe e |
MR Aifd U ii. hEIT 5% §RT 5 5T ST
=g T W Al i, foet fafwa <2 o %t
= ST AT iv. afsger Tt At sem

frfefaa & 9 w9 91 sifges TusT AeR 9 e &9 ¥ Hag § 2

1)
®3)

TG,
AT A TTE.

(2) AN IMETATG.
(4) TATHTA.

SIS ST TRIRUEE (TS0, % dey H e we el ¥ 0

(@
(b)

(€)
(d)

YA

(1)
©)

g 2015 & T & I, LT, 7 AU & [AHT R Ffd § R wA | F@rEdr o
g

JMETNT, b o 2016 § o0 H-FERH dTet Sguei fahe 5 & w0 | shHifshd fohar 7T
T

FEDT, IEH AT, P TEEE SFE |
TR = STRICT 0T ! T 2RI THT METT, T W i € |

(2)3 (b) 2 (o
(d) (4) (2R (c)

faseT =R Hifd 2015-2020 % AR, 9 ©R AT T 6 AT 90T

(1)
)
®3)
(4)

J-08-16

e 3R et 3§ ad & IRE 100 faferm sl Sfor &1 e wr-Feaee
(U, 371 311, /U, 3T, 3T

T X et g a9 & IRE 500 e sl SR w1 e e
(U, 311 . /0%, 37, 3T,

e AR TS I a9 & IRE 1000 ffem swRien SR w1 A we-fHeee
(U, 371 311, /U, 3T, 3T

e AR TS 3 a9 & IRE 2000 e sERiw SR # Fa s
(U, 311 . /0%, 37, 3T,
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